
Partner Power: Multi-Step Inequalities 
Partner #S Name: -----------

8 o l ve each inequality, show all work in the space provided, and circle your anawer . Then 
check your answers with thou of your partner. If you have each solved the problem.a 
correctly, your answen should match (includJ.nt the inequality symbol) . llthey do not, 
work with your partner to tlnd and correct the error. 
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- '1 - S- -1- Objective: Students will solve multi-step inequalities. 
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Solve each inequality, show all work in the apace provided, and clrcle your answer. Then check your anawera with those of your partner. If you have each solved the problems correctly, your answers should match {including the inequality symbol) . If they do not, work with your partner to ft:nd and correct the error . 
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3(-s- x) +x < -10 - x . 
_ t '5 _ '3x- + x. c:: - lO - X. 
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Objective: Students will solve multi-step inequalities. 
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